# Some Fixed point Theorems in Generalization Metric space

Sarika Jain, Rashmi Tiwari<sup>\*</sup>, Ramakant Bhardwaj<sup>\*\*</sup>

Department of Mathematics, Sagar Institute of Science Technology and Research, Bhopal(M.P.),India \* Department of Mathematics, Govt. Narmada Mahavidyalay Hoshangabad

\*\*Department of Mathematics, Truba Institute of Engineering & Information Technology, Bhopal(M.P.), India rkbhardwaj100@gmail.com

### Abstract

In this paper we establish some fixed point results for mapping satisfying sufficient contractive conditions on a complete G-metric space.

Key words and phrases: Metric space, generalized metric space,

#### 1. Introduction

In 1992, Bapure Dhage in his Ph.D. thesis introduced the concept of a new class of generalized metric space called D-metric spaces[2-3]. In 2005 Mustafa and Sims[6] shows that most of the results concerning Dhage's D-metric spaces are invalid. Therefore, they introduced a improved version of the generalized metric space structure, which are called G-metric spaces as generalization of metric space (X, d), to develop and to introduce a new fixed point theory for a variety of mappings in this new setting, also to extend known metric space theorems to a more general setting.

For more details on G-metric spaces, one can refer to the papers [6]-[9].

Now, we give preliminaries and basic definitions which are used throughout the paper.

In 2004, Mustafa and Sims [7] introduced the concept of G-metric spaces as follows:

**Definition 1.1[7]** Let X be a nonempty set, and let  $G: X \times X \times X \to \mathbb{R}^+$ , be a function satisfying the following properties:

(G1) G(x, y, z) = 0 if x = y = z;

(G2) 0 < G(x, x, y); for all  $x, y \in X$ , with  $x \neq y$ ;

(G3)  $G(x, x, y) \leq G(x, y, z)$ , for all  $x, y, z \in X$ , with  $z \neq y$ ;

(G4)  $G(x, y, z) = G(x, z, y) = G(y, z, x) = \dots$ , (symmetry in all three variables);

(G5)  $G(x, y, z) \leq G(x, a, a) + G(a, y, z)$ , for all x, y, z,  $a \in X$ , (rectangl inequality).

Then the function G is called a generalized metric, or, more specifically a G-metric on X, and the pair (X, G) is called a G-metric space.

**Definition 1.2.** [7] Let (X, G) be a G-metric space, and let  $(x_n)$  be a sequence of points of X. A point  $x \in X$  is said to be the limit of the sequence  $(x_n)$  if

 $\lim_{n,m\to\infty} G(x, x_n, x_m) = 0$ , and one say that the sequence  $(x_n)$  is G-convergent to x. Thus, that if  $x_n \to 0$  in a G-metric space (X, G), then for any  $\varepsilon > 0$ , there exists  $\mathbb{N} \in \mathbb{N}$  such that  $G(x, x_n, x_m) < \varepsilon$ , for all  $n, m \ge \mathbb{N}$ , (we mean by  $\mathbb{N}$  the Natural numbers).

Proposition 1.3.[7] Let (X, G) be G-metric space. Then the following are equivalent.

- (1)  $(\mathbf{x}_{\mathbf{n}})$  is G-convergent to  $\mathbf{x}$ .
- (2)  $G(\mathbf{x}_{\mathbf{n}}, \mathbf{x}_{\mathbf{n}} \mathbf{x}) \to 0$ , as  $\mathbf{n} \to \infty$ .
- (3)  $G(x_n, x, x) \to 0$ , as  $n \to \infty$ .
- (4)  $G(\mathbf{x}_{\mathbf{m}}, \mathbf{x}_{\mathbf{n}}, \mathbf{x}) \to 0$ , as  $\mathbf{m}, \mathbf{n} \to \infty$ .

**Definition 1.4.[7]** Let (X, G) be a G-metric space, a sequence  $(x_n)$  is called G-Cauchy if given  $\epsilon > 0$ , there is  $N \in \mathbb{N}$  such that  $G(x_n, x_m, x_l) < \epsilon$ , for all  $n, m, l \ge \mathbb{N}$ . That is  $G(x_n, x_m, x_l) \to 0$  as  $n, m, l \to \infty$ .

Proposition 1.5. .[7] In a G-metric space, (X G), the following are equivalent

1. The sequence  $(x_n)$  is G-Cauchy.

2. For every  $\epsilon > 0$ , there exists  $\mathbb{N} \in \mathbb{N}$  such that  $G(\mathbf{x}_n, \mathbf{x}_m, \mathbf{x}_m) < \epsilon$ , for all  $n, m \ge \mathbb{N}$ .

**Definition 1.6.** [7] A G-metric space (X, G) is said to be G-complete ( or complete G metric ) if every G-Cauchy sequence in (X, G) is G-convergent in (X, G).

**Proposition 1.7.** [7] A G-metric space (X, G) is G-complete if and only if  $(X, d^G)$  is a complete metric space.

**Theorem 1.8**.[7] Let (X, d) be a complete metric space, and R be a function mapping X into it self, satisfy the following condition,

 $d(R(x), R(y)) \leq ad(x, R(x)) + bd(y, R(y)) + cd(x, y), \forall x, y \in X.$ 

where a, b, c are nonnegative numbers satisfying a + b + c < 1. Then, R has a unique fixed point (i.e., there exists  $u \in X$ ; R u = u).

#### 3. Main Results

In this section, we will present several fixed point results on a complete G-metric space. **Theorem 2.1.** Let (X, G) be a complete G-metric space, and let  $R : X \to X$  be a mapping satisfies the following condition a G(Rx, Ry, Rz) + b [G(x, Rx, Rx) + G(y, Ry, Ry) + G(z, Rz, Rz)] $\leq c G(x, y, z)$ (2.1(i))for all  $x, y, z \in X$ , where the constants a, b, c satisfy a, b, c > 0;  $0 < c < a + b; a \neq 0.$ **Proof.** Take an arbitrary and define a sequence  $x_{n+1} = x_n$ , n = 0, 1, 2, ...Substituting  $x = x_{n}$ ,  $y = x_{n+1}$ ,  $z = x_{n+2}$ , then we have  $a G(Rx_n, Rx_{n+1}, Rx_{n+2}) + b [G(x_n, Rx_n, Rx_n) + G(x_{n+1}, Rx_{n+1}, Rx_{n+1}) + G(x_{n+2}, Rx_{n+2}, Rx_{n+2})]$  $\leq c G(x_{n}, x_{n+1}, x_{n+2}) \\ a G(x_{n+1}, x_{n+2}, x_{n+3}) + b [G(x_n, x_{n+1}, x_{n+1}) + G(x_{n+1}, x_{n+2}, x_{n+2}) + G(x_{n+2}, x_{n+3}, x_{n+3})]$  $\leq c G(x_{n'}x_{n+1'}x_{n+2})$  $a G(x_{n+1}, x_{n+2}, x_{n+3}) + b G(x_n, x_{n+3}, x_{n+3}) \le c G(x_n, x_{n+1}, x_{n+2})$  $G(x_{n+1}, x_{n+2}, x_{n+3}) \le \frac{c-b}{a} G(x_n, x_{n+1}, x_{n+2})$ Since  $0 < c < a + b \Rightarrow 0 < c - b < a \Rightarrow 0 < \frac{c - b}{c} < 1$ We assume that  $\frac{c-b}{a} = k$  then  $G(x_{n+1}, x_{n+2}, x_{n+3}) \le k G(x_n, x_{n+1}, x_{n+2})$ Similarly we can show that  $G(x_{n}, x_{n+1}, x_{n+2}) \leq kG(x_{n-1}, x_n, x_{n+1}).$ Processing n times  $G(x_{n+1}, x_{n+2}, x_{n+3}) \leq k^{n+1}G(x_0, x_1, x_2).$ Next we show that  $\{x_n\}$  is Cauchy sequence. Without loss of generality assume that n > m, Then  $G(x_n, x_m, x_{m+1}) \le G(x_n, x_{n+1}, x_{n+1}) + G(x_{n+1}, x_m, x_{m+1})$  $\leq G(x_{n}, x_{n+1}, x_{n+1}) + G(x_{n+1}, x_{n+2}, x_{n+2}) + G(x_{n+2}, x_{m}, x_{m+1})$ Hence, limit m,  $n \rightarrow \infty$  $\lim_{m,n\to\infty} G(x_n, x_m, x_{m+1}) = 0$ i.e.  $\{x_n\}$  is Cauchy sequence. Since (X, G) is complete, so there exists  $w \in X$  such that  $x_n \to w$ , which implies,  $\lim_{n\to\infty}G(x_n,x_n,w) = 0.$ Next we will show that w is fixed point of R. we take  $x = x_n$  and y = z = w in (2.1(i)) then  $a G(Rx_n, Rw, Rw) + b [G(x_n, Rx_n, Rx_n) + G(w, Rw, Rw) + G(w, Rw, Rw)] \le c G(x_n, w, w)$  $a G(x_{n+1}, Rw, Rw) + b [G(x_n, x_{n+1}, x_{n+1}) + 2 G(w, Rw, Rw)] \le c G(x_n, w, w)$ As  $n \to \infty$  we have  $(a+2b)G(w,Rw,Rw) \le 0$ Which is contradiction, so Rw = w i.e. w is fixed point of R. **Uniqueness:** Let p and q are two more fixed points of R, different from w, i.e.  $w \neq p \neq q$ . We take x = w, y = p, z = q in (2.1(i)) then a G(Rw, Rp, Rq) + b [G(w, Rw, Rw) + G(p, Rp, Rp) + G(q, Rq, Rq)] $\leq c G(w, p, q)$  $\Rightarrow G(w, p, q) \leq \frac{c}{a} G(w, p, q)$ Which is contradiction, so w = p = q, i.e. w is unique fixed point of R. This complete the proof of theorem.

**Theorem 2.2.** Let (X, G) be a complete G-metric space, and let  $R : X \to X$  be a mapping satisfies the following condition

 $min \{G(Rx, Ry, Rz), G(x, Rx, Rx), G(y, Ry, Ry), G(z, Rz, Rz)\}$ for all  $x, y, z \in X$ , where  $0 \le a < 1$ . **Proof.** Take an arbitrary and define a sequence  $x_{n+1} = x_n$ , n = 0, 1, 2, ...Substituting  $x = x_n$ ,  $y = x_{n+1}$ ,  $z = x_{n+1}$ , in (2.2(i)) then we have  $\min \left\{ G(Rx_n, Rx_{n+1}, Rx_{n+1}), G(x_n, Rx_n, Rx_n), G(x_{n+1}, Rx_{n+1}, Rx_{n+1}) \right\}$  $\min \left\{ \begin{array}{c} G(x_{n+1}, Rx_{n+1}), G(x_{n+1}, Rx_{n+1}) \\ & \leq \alpha G(x_n, x_{n+1}, x_{n+1}) \\ & \leq \alpha G(x_n, x_{n+1}, x_{n+1}) \\ \min \left\{ \begin{array}{c} G(x_{n+1}, x_{n+2}, x_{n+2}), G(x_n, x_{n+1}, x_{n+1}), G(x_{n+1}, x_{n+2}, x_{n+2}), \\ & G(x_{n+1}, x_{n+2}, x_{n+2}) \\ & \leq \alpha G(x_n, x_{n+1}, x_{n+1}) \\ \min \left\{ G(x_{n+1}, x_{n+2}, x_{n+2}), G(x_n, x_{n+1}, x_{n+1}) \right\} \le \alpha G(x_n, x_{n+1}, x_{n+1}) \dots \dots (2.2(\text{ii}))$ If we take  $\min \{G(x_{n+1}, x_{n+2}, x_{n+2}), G(x_n, x_{n+1}, x_{n+1})\} = G(x_{n+1}, x_{n+2}, x_{n+2})$ Then from (2.2(ii)) $G(x_{n+1}, x_{n+2}, x_{n+2}) \le a G(x_n, x_{n+1}, x_{n+1})$ And if we take  $\min \{G(x_{n+1}, x_{n+2}, x_{n+2}), G(x_n, x_{n+1}, x_{n+1})\} = G(x_n, x_{n+1}, x_{n+1})$ Then  $G(x_n, x_{n+1}, x_{n+1}) \le a G(x_n, x_{n+1}, x_{n+1})$ Which is contradiction, so that  $G(x_{n+1}, x_{n+2}, x_{n+2}) \le a G(x_n, x_{n+1}, x_{n+1})$ Similarly we can show that  $G(x_{n}, x_{n+1}, x_{n+1}) \le a G(x_{n-1}, x_n, x_n)$ . Next we show that  $\{x_n\}$  is Cauchy sequence. Without loss of generality assume that n > m, Then  $G(x_n, x_m, x_m) \le G(x_n, x_{n-1}, x_{n-1}) + G(x_{n-1}, x_m, x_m)$  $\leq G(x_{n}, x_{n-1}, x_{n-1}) + \dots + G(x_{m-1}, x_m, x_m)$  $\leq k^{n} G(x_{0}, x_{1}, x_{2}) + k^{n-1} G(x_{0}, x_{1}, x_{2}) + \dots + k^{m-1} G(x_$ Hence, limit  $m, n \rightarrow \infty$  $\lim_{m,n\to\infty}G(x_n,x_m,x_m)=0$ *i.e.*  $\{x_n\}$  *is Cauchy sequence.* Since (X, G) is complete G – metric space which gives  $w \in X$  such that  $\{x_n\} \to w$ , as  $n \to \infty$ Next we will show that w is fixed point of R. for this we take  $x = x_n$  and y = z = w in (2.2(i)) then  $\min\left\{G(Rx_n, Rw, Rw), G(x_n, Rx_n, Rx_n), G(w, Rw, Rw), G(w, Rw, Rw)\right\} \le a G(x_n, w, w)$  $\min\left\{G(Rx_n, Rw, Rw), G(x_n, Rx_n, Rx_n), G(w, Rw, Rw)\right\} \le a G(x_n, w, w)$ As  $n \to \infty$  we have  $\min\left\{G(Rw, Rw, Rw), G(w, Rw, Rw), G(w, Rw, Rw)\right\} \le a G(w, w, w)$ Which is contradiction, so  $\mathbf{R}\mathbf{w} = \mathbf{w}$  i.e. w is fixed point of  $\mathbf{R}$ . Uniqueness: Let **p** and **q** are two more fixed points of **R**, different from w, i.e.  $w \neq p \neq q$ . We take x = w, y = p, z = q in (2.2(i)) then  $\min\{G(Rw, Rp, Rq), G(w, Rw, Rw), G(p, Rp, Rp), G(q, Rq, Rq)\} \le a G(w, p, q)$  $\Rightarrow G(w, p, q) \leq aG(w, p, q)$ Which is contradiction, so w = p = q, i.e. w is unique fixed point of R. This complete the proof of theorem. **Theorem 2.3.** Let (X, G) be a complete G-metric space, and let  $R : X \to X$  be a mapping satisfies the following condition  $\frac{following \ condition}{\min\left\{ c\left(x, x, y, z\right), c\left(x, x, x, x\right), c\left(y, x, y, y\right), c\left(z, x, x, z\right)\right\}}{\sum_{i=1}^{n} \sum_{j=1}^{n} \sum_{i=1}^{n} \sum_{j=1}^{n} \sum_{j=1}^{n} \sum_{i=1}^{n} \sum_{j=1}^{n} \sum_{j=1}^{n} \sum_{i=1}^{n} \sum_{i=1}^{n} \sum_{i=1}^{n} \sum_{j=1}^{n} \sum_{i=1}^{n} \sum$ min {6 (x,Rx,Rx),6 (y,Ry,Ry),6 (z,Rz,Rz)} for all  $x, y, z \in X$ , where  $0 \le a < 1$ . **Proof.** Take an arbitrary and define a sequence  $x_{n+1} = x_n$ , n = 0, 1, 2, ...Substituting  $x = x_n$ ,  $y = x_{n+1}$ ,  $z = x_{n+1}$ , in(2.3(i)) then we have  $\min\left\{G(Rx_nRx_{n+1}Rx_{n+1}),G(x_nRx_nRx_n),\ G^2(x_{n+1}Rx_{n+1}Rx_{n+1})\right\}$  $\min \{ G(x_n, Rx_n, Rx_n), G(x_{n+1}, Rx_{n+1}, Rx_{n+1}), G(x_{n+1}, Rx_{n+1}, Rx_{n+1}) \}$ 

 $\leq a G(x_{n}, x_{n+1}, x_{n+1})$  $\min \{G(x_{n+1}, x_{n+2}, x_{n+2}), G(x_n, x_{n+1}, x_{n+1}), G^2(x_{n+1}, x_{n+2}, x_{n+2})\}$  $\min \{G(x_n, x_{n+1}, x_{n+1}), G(x_{n+1}, x_{n+2}, x_{n+2}), G(x_{n+1}, x_{n+2}, x_{n+2})\}$  $\frac{\min\left\{6\left(x_{n+1},x_{n+2},x_{n+2}\right),6\left(x_{n},x_{n+1},x_{n+1}\right)\right\}}{\min\left\{6\left(x_{n+1},x_{n+2},x_{n+2}\right),6\left(x_{n},x_{n+1},x_{n+2},x_{n+2}\right)\right\}} \le a G\left(x_{n},x_{n+1},x_{n+1}\right) \dots (2.3(ii))$ Case I: If we take  $\frac{\min\{G(x_{n+1}, x_{n+2}, x_{n+2}), G(x_n, x_{n+1}, x_{n+1}), G^2(x_{n+1}, x_{n+2}, x_{n+2})\}}{\min\{G(x_{n+1}, x_{n+2}, x_{n+2}), G(x_n, x_{n+1}, x_{n+1})\}} = \frac{G(x_{n+1}, x_{n+2}, x_{n+2}), G(x_n, x_{n+1}, x_{n+1})}{G(x_n, x_{n+1}, x_{n+1})}$ Then from (2.3(ii))  $\frac{G(x_{n+1}, x_{n+2}, x_{n+2}) \cdot G(x_n, x_{n+1}, x_{n+1})}{G(x_n, x_{n+1}, x_{n+1})} \leq \alpha G(x_n, x_{n+1}, x_{n+1})$  $\mathcal{G}(x_n,x_{n+1},x_{n+1})$  $G(x_{n+1}, x_{n+2}, x_{n+2}) \le a G(x_n, x_{n+1}, x_{n+1})$ Case II: if we take  $\min \{G(x_{n+1}, x_{n+2}, x_{n+2}), G(x_n, x_{n+1}, x_{n+1}), G^2(x_{n+1}, x_{n+2}, x_{n+2})\}$  $\min \{G(x_{n+1}, x_{n+2}, x_{n+2}), G(x_n, x_{n+1}, x_{n+1})\}$  $G(x_{n+1}, x_{n+2}, x_{n+2}), G(x_n, x_{n+1}, x_{n+1})$  $G(x_{n+1}, x_{n+2}, x_{n+2})$ Then from (2.3(ii)) $\frac{1}{6} \frac{x_{n+1} x_{n+2} x_{n+2} x_{n+2} x_{n+2} x_{n+1} x_{n+1}}{6} \le a G(x_n, x_{n+1}, x_{n+1})$  $G\left(x_{n+1},x_{n+2},x_{n+2}\right)$ Then  $G(x_n, x_{n+1}, x_{n+1}) \leq a G(x_n, x_{n+1}, x_{n+1})$ Which is contradiction, so that Case III: if we take  $\frac{\min\left\{G(x_{n+1}, x_{n+2}, x_{n+2}), G(x_n, x_{n+1}, x_{n+1}), G^2(x_{n+1}, x_{n+2}, x_{n+2})\right\}}{\min\left\{G(x_{n+1}, x_{n+2}, x_{n+2}), G(x_n, x_{n+1}, x_{n+1})\right\}} = \frac{G^2(x_{n+1}, x_{n+2}, x_{n+2})}{G(x_n, x_{n+1}, x_{n+1})}$ Then from (2.3(ii)) $\frac{6^{2}(x_{n+1}x_{n+2}x_{n+2})}{6(x_{n}x_{n+1}x_{n+1})} \leq a G(x_{n}x_{n+1}x_{n+1})$  $G(x_{n+1}, x_{n+2}, x_{n+2}) \le b G(x_n, x_{n+1}, x_{n+1})$  where  $b = \sqrt{a}$ Case IV: if we take  $\frac{\min\left\{G(x_{n+1}, x_{n+2}, x_{n+2}), G(x_n, x_{n+1}, x_{n+1}), G^2(x_{n+1}, x_{n+2}, x_{n+2})\right\}}{\min\left\{G(x_{n+1}, x_{n+2}, x_{n+2}), G(x_n, x_{n+1}, x_{n+1})\right\}} = \frac{G^2(x_{n+1}, x_{n+2}, x_{n+2})}{G(x_{n+1}, x_{n+2}, x_{n+2})}$ Then from (2.3(ii)) $\frac{6^{2}(x_{n+1},x_{n+2},x_{n+2})}{6} \leq a G(x_{n'},x_{n+1'},x_{n+1})$  $G(x_{n+1},x_{n+2},x_{n+2})$  $G(x_{n+1}, x_{n+2}, x_{n+2}) \le a G(x_n, x_{n+1}, x_{n+1})$ From case I, II, III and IV, we have  $G(x_{n+1}, x_{n+2}, x_{n+2}) \le a G(x_n, x_{n+1}, x_{n+1})$ By induction we have  $G(x_{n+1}, x_{n+2}, x_{n+2}) \le a^{n+1} G(x_0, x_1, x_1)$ Similarly we can show that  $G(x_n, x_{n+1}, x_{n+1})) \leq \alpha G(x_{n-1}, x_n, x_{n+2})$ . Next we show that  $\{x_n\}$  is Cauchy sequence. Without loss of generality assume that n > m, Then  $G(x_{n}, x_{m}, x_{m}) \leq G(x_{n}, x_{n-1}, x_{n-1}) + G(x_{n-1}, x_{m}, x_{m})$  $\leq G(x_n, x_{n-1}, x_{n-1}) + \dots + G(x_{n-1}, x_n, x_n)$   $\leq k^n G(x_0, x_1, x_2) + k^{n-1} G(x_0, x_1, x_2) + \dots + k^{m-1} G(x_0, x_1, x_2).$   $\leq k^n (1 + k + k^2 + \dots + k^{n-m}) G(x_0, x_1, x_2).$  $\leq \frac{k^n}{1-k^{n-m}} G(x_0, x_1, x_2).$ 

Hence, limit  $m, n \rightarrow \infty$  $\lim_{m,n\to\infty}G(x_n,x_m,x_m)=0$ *i.e.*  $\{x_n\}$  is Cauchy sequence. Since (X, G) is complete G – metric space which gives  $w \in X$  such that  $\{x_n\} \to w$ , as  $n \to \infty$ . Next we will show that w is fixed point of R. for this we take  $x = x_n$  and y = z = w in (2.3(i)) then  $\min\left\{G(Rx_n, Rw, Rw), G(x_n, Rx_n, Rx_n), G(w, Rw, Rw), G(w, Rw, Rw)\right\} \le a G(x_n, w, w)$  $\min\left\{G(Rx_n, Rw, Rw), G(x_n, Rx_n, Rx_n), G(w, Rw, Rw)\right\} \le a G(x_n, w, w)$ As  $n \to \infty$  we have  $\min \{G(Rw, Rw, Rw), G(w, Rw, Rw), G(w, Rw, Rw)\} \le a G(w, w, w)$ Which is contradiction, so Rw = w i.e. w is fixed point of R. **Uniqueness:** Let p and q are two more fixed points of R, different from w, *i.e.*  $w \neq p \neq q$ . We take x = w, y = p, z = q in (2.3(*i*)) then  $min\{G(Rw, Rp, Rq), G(w, Rw, Rw), G(p, Rp, Rp), G(q, Rq, Rq)\} \le a G(w, p, q)$  $\Rightarrow G(w, p, q) \leq aG(w, p, q)$ 

Which is contradiction, so w = p = q, i.e. w is unique fixed point of R.

This complete the proof of theorem.

### References

- 1. M. Abbas and B.E. Rhoades, Appl Math and Comput, 215,p261 (2009).
- 2. B. C. Dhage, "Generalized metric space and mapping with fixed point," Bulletin of the Calcutta Mathematical Society, vol. 84, pp. 329–336, 1992.
- 3. B. C. Dhage, "Generalized metric spaces and topological structure. I," Analele Stiintifice ale Universitatii Al. I. Cuza din Iasi. Serie Noua. Matematica, vol. 46, no. 1, pp. 3–24, 2000.
- 4. B. C. Dhage, "On generalized metric spaces and topological structure. II," Pure and Applied Mathematika Sciences, vol. 40, no. 1-2, pp. 37–41, 1994.
- 5. B. C. Dhage, "On continuity of mappings in D-metric spaces," Bulletin of the Calcutta Mathematical Society, vol. 86, no. 6, pp. 503–508, 1994.
- 6. Z.Mustafa and B.Sims, Proceedings of International Conference on Fixed Point Theory and applications, Yokohama Publishers, Valencia Spain, July 13-19, p189(2004).
- 7. Z.Mustafa and B.Sims, A new approach to a generalized metric spaces, J. Nonlinear Convex Anal., 7,p289 (2006).
- 8. Z.Mustafa and H.Obiedat and F.Awawdeh, Fixed point theorey and applications, Volume 2008, Article ID189870(2008)
- 9. Z.Mustafa, W. Shatanawi and M.Bataineh, International Journal of Mathematics and Mathematical Sciences, Volume 2009, Article ID. 283028,10 pages(2009).

The IISTE is a pioneer in the Open-Access hosting service and academic event management. The aim of the firm is Accelerating Global Knowledge Sharing.

More information about the firm can be found on the homepage: <u>http://www.iiste.org</u>

# CALL FOR JOURNAL PAPERS

There are more than 30 peer-reviewed academic journals hosted under the hosting platform.

**Prospective authors of journals can find the submission instruction on the following page:** <u>http://www.iiste.org/journals/</u> All the journals articles are available online to the readers all over the world without financial, legal, or technical barriers other than those inseparable from gaining access to the internet itself. Paper version of the journals is also available upon request of readers and authors.

## MORE RESOURCES

Book publication information: <u>http://www.iiste.org/book/</u>

## **IISTE Knowledge Sharing Partners**

EBSCO, Index Copernicus, Ulrich's Periodicals Directory, JournalTOCS, PKP Open Archives Harvester, Bielefeld Academic Search Engine, Elektronische Zeitschriftenbibliothek EZB, Open J-Gate, OCLC WorldCat, Universe Digtial Library, NewJour, Google Scholar

